1638505 16 NT5065

10.

T.V. Rfar & we d9a # fev v fafr=
Hold ® B DY AT BN |

Draw constructional diagram of Vidicon camera

tube and explain its working principle.

fafsai a1 <ga @ fFrErfor —sR@ &t
Rad ik s &1 Rigia &1 @A a3 |

OR (3121a1)

Draw and explain chromaticity diagram.

HIAANE sra™m B g ik qoiT |

Explain the working principle of folded dipole

antenna.

Bless SIUUIA Ufedar © &l Rigid &1
ATET B |
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Sem. V /ECE
TV Comm. Sys.

Time : 3Hrs.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & aft ufg ueal & IR <, uAS U & 9H 435 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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How is low voltage power supplied to T.V. receiver?

T.V. R A =1 aieew wifaa &1 smyfef
DU B ot 8?

What do you mean by Luminance signal?
e Rree | sy Far wHstd 20
OR (3121a1)

What is raster? How is it produced on the picture
tube screen.

R T 2 ? MRaa g9 w4 W™ 39 &9
I~ fopar AT 8 ?

What is frequency inter leaving
fhad Y gefafaT s 272
OR (3121an)

What is grassman's law?

YA &1 g @ar 27

(i)

(iif)

(iii)

(iv)

3 1638505

HoR DIRT @ forv frr=ifeRaa & 9
P a2

(31) V=0.3V,=0.59V,=0.11 V,

@) V=03V,=0.59V,=0.11V,

() V=03V, =0.59V,=0.11 V,

() 39 9 BIg 78

Flicker is eliminated by showing each
picture.......

(a) Four times

(b) Three times

(c) Two times

(d) Five times

ffeady & @ oA @ fov yd®
i & 2 A fe@man <irar 28—
(31) IR IX
(C)IGIERCI
(|) & 9R
(]) urg IR

Image section of image orthicon consists of:
(a) Photo cathode

(b) Electron gun

(c) Focusing coil

(d) Both (b) and (¢)

P.T.O
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xx) fr=fafaa & 4 G deg a9 28— (vi)
@) e + 31 = WH
@) frem + 81 = 9o
&) ar + a1 = dienn
(2) 379 4 HIg T8

(vii)

(vii)

GROUPB

Answer all Five Questions. 4x5=20

Il uig g & SR o

(viii)

2.  What do you mean by interlaced scanning?

goXalts AT O AT FT gHSK 27

5 1638505

f=faRaa & O 19 Aodle gifiex
BT 3T B?

(31) RF g}

@) TV DT

(@) difsar fecaex

(®) (1) ik (|) <=0

In horizontal scanning, trace period is...........
retrace period.

(a) More than

(b) Less than

(c) Equal to

(d) None of these

gidiica w@fH7T o, o9 fiRys, Rgw

(®) s 94 HIg T8

Which of the following antenna is used for
T.V. transmission.

(a) Turnstile Array

(b) Yogi-Uda

(c) Both (a) and (b)

(d) None of these

P.T.O
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(xvi)

(xvii)
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(xviii)

10

fr=faRaa & 9 SIa—ar d&eT MATHIH
Rdax 9 1 gicew 9id & 9ol 4
3

(@1 ®Ig sur T2Y

(@) BIS IR 1B

(|) safv "=

(2) @) &R (@) =

In Picture rolls vertically, technician checks

for :

(a) Low B4 Voltage

(b) Leaky coupling capacitor

(c) Whether oscillator frequency is too high
or too low

(d) None of these

IR fam Seafek gaar 2, aa-lRre
.................. DI Sl AT 8—

(@) =1 B dlecw

(@) <Nt sftcT DUfRiex

(@) <ifera sgfy 9gd ATeT AT 98d HA
() 37 4 »Ig 7L

Which of the following is symptom for defect
vertical deflection for colour T.V.

(a) Bright horizontal line

(b) No colour

(¢) Sound normal

(d) All of the above

x)

(xi)

(xi)

(xii)

7 1638505

fr=faRaa % @ foa a9 &1 sddaci~e
ST 7 STAT SRd -

(31) aR@eR

@) SR sETS

(4) fovea smars

(]) wiel sHTs

Which of the following statement is true for
"AGC".

(a) In increase gain of strong signals

(b) In increase gain of weak single

(c) It is used to maintain constant sound level.
(d) Both (b) and (¢)

frfafaa &9 a1 %29 "AGC" &

forg awg 2

(1) aE wga Reqa @ 19 ¥ 9fg
&l 8

(@) gz 3rerga Rrqa & W9 4 3fg
BT 8

() ST YA safy wWR d ReR @™
¥ foar wrar @

(?) @) 3R (w) <

Which of the following is light sensitive
organ

(a) Rod

(b) Cone

(c) Both (a) and (b)

(d) None of these

P.T.O
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11.

OR((312141)

What is a ghost image? Differentiate between

leading and trailing ghost image.

"ixe g9 @1 22 fafSw ik gfei T 'ike
A9 © 49 B FaR dl ford |

Draw circuit diagram of basic video detector and

explain its working principle.

Hifars fafsar fsedexr & uRuYy IRW &1
Rad 3k sua» a1d Rigid @ A= a |

OR (3121an)

Write technical note on any "two" of the following
(1) Deflection Yoke
(1) AGC

(111) Video detector

P.T.O

1638505 17 NT5065

11.

OR (312141)

What is a ghost image? Differentiate between

leading and trailing ghost image.

Hive s99 1 =7 fafS 3k i =ive
9 © 49 B Fax dl ford |

Draw circuit diagram of basic video detector and

explain its working principle.

Hiferd fafsar fsedex @& uRuer IRE &1
Rad 3R svo i Rigid @ aar=r & |

OR (3121d1)

Write technical note on any "two" of the following
(1) Deflection Yoke
(i) AGC

(111) Video detector

P.T.O
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